<o @> (rad)
o
o
T

o

-0.05

- .

...............................

...............................

1 3
beamliné

o
[N

g
[
o

< dcotl>)

©
D

0.05]

-0.05

................................................

o =04

Rati

0.95

107 1

2 3
TPlpoT (PCA t%obeamliné[f)

ault=s
ault™s:

ecPlLess3-

“TOWDT

¥au _specPlLess1-|
au% specPless2-
F ecPLess4-

owpt
owpt
OWEE

ow|

50

40

< 00, > (M)

30

20 +eeeneeieeeed

Ratio

1071 1

[y

S

A C

D_'_ 05__ .................

o

S I

Vv 0__ """""""""
=05

|
=

...............................

4
o 12 [P APTY IR
g™
d

1_— ------------------ L R R

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

o

<od,> (um)
o
o

|
N
o

0.95

1071 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


